

Similar a sumar fracciones porque cuando tenemos los mismos denominadores, simplemente restamos los numeradores.

$$\frac{1}{-} - \frac{1}{2} =$$

$$\frac{-}{3} - \frac{1}{3} =$$

$$\frac{3}{4} - \frac{-}{4} =$$

$$\frac{2}{5} - \frac{-}{5} =$$

$$\frac{-}{4} - \frac{-}{4} =$$

$$\frac{5}{6} - \frac{-}{6} =$$

$$\frac{-}{7} - \frac{2}{7} =$$

$$\frac{4}{5} - \frac{-}{5} =$$

$$\frac{-}{8} - \frac{2}{8} =$$

$$\frac{7}{9} - \frac{2}{-} =$$

$$\frac{-}{4} - \frac{-}{4} =$$

$$\frac{6}{-} - \frac{1}{-} =$$